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Questions

Q1.

The diagram shows a regular pentagon ABCDE.

E

Diagram NOT
accurately drawn

Z AoE = 360 _77°
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The pentagon is divided into 5 isosceles triangles. e
OA=0B=0C=0D=0E=6m Arca of pe< i°n
Work out the area of the pentagon. = & X 1771z
Give your answer correct to 1 decimal place.
Z
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(Total for question = 4 marks)



Q2.

| 8.7 cm

C

Diagram NOT
accurately drawn

0
Z CchAB = l?o—-(écc- 4—4—4) 67
ABC is a triangle.

AB =8.7 cm.
Angle ABC = 49°. Poule
Angle ACB = 64°. Stine
Calculate the area of triangle ABC. _Z_E_ — g.7
Give your answer correct to 3 significant figures. . o o
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(Total for Question is 5 marks)



Q3.

* The diagram shows a triangle DEF inside a rectangle ABCD.

D D C Diagram NOT
accurately drawn
2410 cm 2 cm Keee o ADNEF
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A 4 E 2cm B 1 .
2 s
Show that the area of triangle DEFis 8cm®>. T ., A DcF a +2 = Q[S )
You must show all your working. % 2 g =40

> = 4o — 4 = RC
x = (36 =6
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(Total for question = 4 marks)



Q4.

B & Diagram NOT
accurately drawn

v O I
A 4 6 cm »0 D
. 2 2 _ 2
In the diagram, T & AC& S 4C ==zx
2 £ 3L = x?
ABCD is a rectangle G/ = e
P lies on the line CD — _
Q lies on the line AD JG ( = X
PQB is a right-angled triangle
NG - —7. g ]
Work out the length of BC. Twn A RBQP L e
Give your answer correct to 3 significant figures. £&5 36 = =
You must show your working. 3
Y3 = x
T~ A BARG .
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eo s €

(Total for question = 5 marks)



Q5.

The diagram shows a square ABCD inside a circle.

Diagram NOT
accurately drawn

A/‘-czg o’p
S had /£ QQS;"“S

= A/(& o F C:"G(Q

The points A, B, C and D lie on the circle. " 3

The radius of the circle is 6 cm.

] %08 e =

U

Work out the total area of the shaded regions.
Give your answer correct to 3 significant figures.
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(Total for question = 4 marks)



